1. Experimenters A, B C independently perform experiments.
Their respective data result in chi square statistics and df below.

HO df chi square statistic ~ P-value
experiment A: HOa 12 6.3
. o T 2
exper{ment B: HOb 6 5.2 0 ot NED
experiment C: HOc 31 39.2 / —
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2. From a large population of farms we’ve selected at random 50
small organic farms, 30 large organic farms, 60 small not-organic
farms and 100 large not-organic farms. These farms are scored L,
M, H for water usage relative to the crops they produce. We wish to
use a chi square test of the hypothesis that water score is (in the
population) the same for each of the four farm types.
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2. Continued. F) XED
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There are 78 farms scoring L, of Wthh Wnot organic.

c. What is the “expected count” forl\non organic small farms scoring L.?
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3. Mendel’s model essentially says that each parent contributes a
random selection of one *‘letter” to their offspring. So a type AA
parent mated with a type aa parent will produce only type Aa
offspring. If both parents are type Aa their offspring are 1/4 AA,
1/2 AaoraA,1/4aa. fop AA N You QoAa, Ax Ax AA
mom aa Z Ao Aoty b Yy
Hardy and Weinberg proved that under random mating Mendel’s
Muence that the generation of offspring is
governed by the following model, in which p = fraction of A in the

parent population’s gene pool. o7
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3. Continued.
Hardy and Weinberg proved that under random mating Mendel’s model has the
consequence that the generation of offspring is governed by the following model,

in which p = fraction of A in the parent population’s gene pool.
AA AaoraA aa
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4. A sample of 398 patients is selected from a large patient
population. The following table classifies these patients according to
insurance statusand costs of service billed. Does it appear that
insurance status has something to do with cost?
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: & OF 3
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not insured 42 72 (0O 114 NTE p
110 208 80 (398 fpicnE 7,‘?5?@-
a. Which chi square test applies? Y Mﬂfpﬁ‘/ﬂff‘/
b. Calculate the expected table.
L M H 289 §0°

insured 78.49 148.42 (57.09 284) 298

not insured 3151 59.58 22,91 114
110 208 80
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5. Past experience suggests that restaurant menu orders occur with
relative frequencies reported below. Also shown are counts from a
sample of 200 orders from a new franchise in a new location.
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a. Which chi square method applies? 6?;?}/*7‘5.5— df = (- /)= Y
b. Fill in the missing counts, exp counts and marginal totals.
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e. Determine P-value.



